B 3x7 = 7|
M > x6=18

| 2+32- T4
lox_ 5 =45
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] o

67 +12=_]9
L x4 =48
What is the product of 12 and 72 Q L
What multiplied by 6 makes 48?2 <G
What is double 167 7 ’S’Z'
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7 weeks?

| Halve 36 8%

What are the factors of 30? S y{5 152317

3o\ S

., If abag of toffees weighs 150grams,

= how much do 8 bags weigh? i4 |, 200
.|| Complete the sequence:

a6, 14, 22,2 03%, 46 5

| Two children get £2.50 pocket money
| every wee@ How much do they get in

HES®

Q ) What is 23 more than 657 R

| State all of the factors of 24 that are

over 10 |/ / Z_LF

If a racing car goes around a track 17

| times in 5 minutes, how many times
" does it go arognd in 15 minutes?

|7 5|

X <3
s [Pthere are 72 eggs in 8 boxes, how
"~ many is there in each egg box? @

" | Make sure you check your answers!

Total outof45=__
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